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Question number Mazks

This paper cons istof § pages.
) At 1-25

. Write your index number correctly in the

appr‘o’priate' place on page one and page |

three.

Answer sii questions on this paperitself.

Use the space provided under each question

forworking and writing the answer. °

‘Itis n_écessary to write relevant steps and

correctunits.

Mhrks will be awarcfedas follows:

02 marks each for questions | -25 inpartA

10 marks each for questions in part B . Marl(nd by
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v ‘Part-A .
Answer all'the questions oa this paper itsell

(01) The monthly télephone charges ofa certain household is Rs. 2400. I the VAT charges are
Y 15%, calculate the VAT, ' Y o

.“

(02) In the given right prism, draw the sketches of the shaded
faces with relevant measurements.

(03). Us ing the following information, find the valueof, /—7_ to the first approximation.
(2.50=625, (2.6)=6.76, (2.7)=729

[

(04) Solve. x(x-2)=0

(05) Accordingtothe infomatidri giveninthe figure, find the value ofx andy,

AP ZAGN

50

] .

(06) Inageometric ﬁrog’ression, second, third-and forth terms are 12, 48 and,‘l 92 respectively.
Find the common ratio and the first term. B T
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Name / Index No.

©7) Simplify. -;1;-2 . -%;( ,

(08) Abustravelsata speed of 90 kilometers per hour. Find the distance it travels within a
- minute, inkilometers. : '

~(09) Expressin.indexfohn.‘log, 81=4

(10) Representtheset A inaVenndiagram.
T A={x:xeZ,-2<x<3} '

(11) When two identical coins are tossed simultaneously, find the probability that at least one

coinshowshead.

(12) Find the least c&nnnon multiple. 3ab ,’2b, al

Grade't1 - Maths1- Wester Province
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(13) Are- the two triangles ABC and PQR congment? If so write the relevant case of

* congruehcy. : S . A /AQ\

L]

(14) Solvethe inequality x-1 <2 and“repreéent the solution onthe numberline given below. |

L

i
'y

4 3 20 1 23 4

(15) “Accordingto the _info_rmatioﬁ givenin the ﬁgure, find the value of %

(16) Given below are the first 8 data, whena group of 15 datais written in éscending order. |
4,7,7,8 9,9,10,11 T ‘ |
Write the median and the first quartile of the g:roup ofdata.

(17) Inthetriangle ABC, AB=AC. Findthe valueof y.

B

(18) A man who is at the fop (P) ofavertical bmldmg PR, observes a
car (Q) which is 15m away from the foot the building, at an
angle of depression of 60°. Mark the given informationinthe - -
diagram with- relevant measurements.

R

+Grads 11 - Maths [ - Westem Province
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2

é : :Ol ) . Obtainthe product AB of the two matrices Aand B.

(20) According the information given in the circle withthe o 4- :
~ centerO,findthevalueofx. = - - m |
o N | ) ‘ ' . | ) . . Q | ‘ O ‘

(21) According to the information given in the circlé with the
- centerO ﬁndthe valuea of a and b

{u9) A=(2 -I) and B= (

R 4 T,

e : -
.'.'_ 5‘4 ;.‘ g' ) s

e Volume ofaright cn:cular cylmder is1540cm’. Ifthe heightof it is 100111, find the: radlus
- (Volume ofa cylmder with the radius and the heighthis nr'h) '

(23) The radlus of the given circle with the centre Ois 15cm. Accordmg the given uﬂormanon, '
find the Iength of the chord AB. '

{24) Inthe given diagram, draw a sketch of relevant constructmn hnes to Iocate a point D
- whichis equidistant to the linesAB and AC and 10m away fromA. c

A 4—10me# ‘

H
A

i

25) Findthe gradiént ofthe 'sﬁéight line Which passes through the points(1,2)and(3,6). |

Grade 11'- Maths [ - Wester Province
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Pmrt B
, Answer all the questions on this paper itseif.
(01), In a certain library, there are only Sinhala mediun and English medium books. 1 of the
total number of books are Smhala medium novels and 1 of the total are Sinhala medmm '

Science tnctions

() What fraction of the total number of books are Sihha{a medium novels and Sinhala
medium science frictions?

(ii) 171 of the remaining books are English medium books. Express the number of
. Enahsh medium books as a fraction of total number of books

( iii) What fraction of the total number ofbooks are the difference between the number of
Sinhala medium books and the number of English medium books?

(iv) Ifthat amountis 1200, find the total number of booksin the library.

23 Figure showsalo go prepared using a metal lamina. It consists of PEQ semi circlewith
the radius 2lemand ABCD square with the length ofaside 14cm. '

(take = 2‘ forthe followmg caluulahons )

(1) F md the arc Iength of the PEQ semi cucle ‘

(ii) Find the perimeter of the logo.

(iif) Find the area of the logo.

(iv) Ifa rectancrular shaped portion with the length of a side equalto PQ and with the area
equals to the three times of the ABCD square, is fixed to the PQ side instgac of the
~ ABCDsquare. Drawa sketch of it with relevant :neasurements inthe same ﬁoure

Grade 11 - Maths | - Westem Province
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(03) Ravindraloansd Es. 4000 Jv3 2t compound interest rate of 12% and decided to importa

car from that rwor.ey '
(1) Fmd the interest to be paid atthe end of the first /eax

ISR o b 13
Faz 41-~{'- Yimm qmtgre eﬂ Y~
\e=y L ilhwe Lha Y et PEEBErY LRI

(iit) Find the total amount that Rav_indra hasto pay to settle the loan after two yeai's.

(w) When acar is imported 60% of its value has to be paid as customs duty. He decuied to
pa / ’che duty and the import value using only the abov\, loaned amount. Find the
unport value of the car that he can buy. =

(04) ‘An incorﬁpléte table of values and a histogram which represeﬁts the mass of grade 11

students ina certain school are given below.
(The interval (35 -40) denotes the mass greater thanor equal to 35kgand less than 40kg

Mass of the students(kg) | 35- _ 55-60 | 60-75 | 75-80
No. of Students ' 1 15 4

B

KN

e e
[N

<

No. of Students

S N H O\ 0o

30 35 40 45 50 55 60 65 70 75 80 85 .
' Mass of the students(kg)

" (i) Fillinthe blanks in the table using the histogram.
(ii) Completethe hxstogram using the table
(iii) Draw the freqpency polygonusing the completed histogram.

(iv) How many- students are there in the class?

(v) Find the percentage of students whio weighs 55kgormore.

Grade |1 - Maths | - Western Province ’
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(05) Inacertain cattle farm, there are two male animals and three fernale animals. Itis decided |

- togive two randomly selected animals fo Nimal and Sunil.

a4

(iy Represent the relevant sample space of the

A

event, selecting two animals randomly in

'

the given grid. '
(male animals are denoted by Mand -
female animal are denoted by F)

N

IN’

- Animal received by Sunil

M, M, F, F, F,

Animal received by Nimal
(ii) Mark the event, 'one selected-animal being a male and the other selected one being a
female' inthe grid and find its probability. ‘

(iii) Complete the givén .tre_eVIQiagram by marking the relevant probabilities, which is

drawn to represent the animal teceived by Nimal,

Animal received by Nimal |

(iv) Among the five animalsin the cattle farm, only two female animals can provide milk.
Extend the above tree diagram to represent the event that the animal received by
Nimal Caﬁpe able to provide milk or not and find the probability that the animal

received by Nimal can be able to provide milk.

Grade 11 - Maths 1 - Western Provinge
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< Answer 10 questions selecting 05 questions from partAand 03 questlons from part B. -

% Each question carries 10 marks. .
% Volume ofasphere with the radius  is Lonr Volume ofacylinder thh the radius ~and the

3
helcrhthxs nr “h. .

PartA
Answer 05 questions only. -

(01)- An incomﬁlete table of values prepared to draw the graph of the functiony = (x+ 1)(x-3)

sw  isgivenbelow.

N ) -1 1 2 3 4
¥ 5 0 -4 13 0 | 5

* Find the value ofy, wheax =0.
Taking 10 small divisions alonc the x axis and the y aus as one unit as the scale,

draw the graph of the above functionina graph paper.
Write the range of values of x wherey > 0.
Ifthe above function can be written in the form  y=x"+ax+ b, write the values of

a andb.
(v)  Usingthe graph, find the roots of the equation x°-2x -3 =0.
Following table contains the information on 100 students of different age groups who

came for an educational exhibition.,
(The interval (6 — 8) denotes the mterval of age whlch are qreater than 6 years and Iess

than or equal § years)

Age (years) 6-8 1C - 14| 14 -16 | 16 -18
No of Students 10 12 | 25 20 18 15

" Towhichage group does the most number of students belong?
Using the assumed mean or other method, find the mean age ofa student who came

for the exhibition to the nearest whole number.
- Amember ofthe or. gamzmg commiitee claims that more than 75% of students who.

came to the exhibition, are older than 10 ycars Is that stateme'lt true? Give

reasons.

Grade 11 - Maths IT - Western Province
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(03) An mvestor who owned 4000 shares in a company.which pays an armual dividend ofRs. 5
per share sold these shares at the market price of Rs. 40, after receiving the annual
dividenddncome. He spent the dividend income and the money he received by selling t_he'
sharesto buy shares at the market price of Rs. 25. From this investment he gained an
annual dividend income which was Rs. 8 800 more than what he received from the

" previous m\/estment Find the anpual dmdend per share that the second company paid.
s _ p
(2) Wimal whe is standing at a point A in a river:
. bank, observes atop of atree P, which is situated . - -
‘at the other side of the river at'an angle of
elevation of 50°. The width of the river is AB.He
observes the top_of the tree (P)from a point Q Q 200m A
-which is 200m away from A; with an angle of

elevation of 30°. v : .
An incomplete sketch diagram drawn to represent the above data is shown in the

figure. Using the scale 1:4000,

(i) Drawascale diagram to represent the above infqrmationﬁ

(i) Hence find the actual width (AB) ofthe river.
According to the information given in

' \ ’ . the figure, using the trigonometric |
1Zcm raho@ :
. |8cm
(i) Findthe magnitude ofACD
B . . D C - (ii) Find the and lengthof AB.

) The total amount of money Kamala and J anam have is equal to the three times ofthe
amount of money Janani has. If Janani gives Rs. 50 to Kamala, Kamala owns four

times the remaining amount on Janani's hand.
() By taking the amount of money Kamala has as x and the amount of rnoney

Janani has as y, build up a pair of simultaneous equations.
(ii) Solve the pair of simultaneous equations and find the amounts of money

Kamala and Janani has seperately.

(b) Find the matrix M; suchthat IM+ 4( g é) M

A met;él lamina is! prepared by removing a

~ rectangular portion with the length 8cm and the

. breadth 4cm from a rectangular shaped lamina as
shown in the figure. If the area of the removed
‘portion is equal to the area of the remaining portion,

. find the value of x; the distance between parallel
gdges. (Take J— =4, 9] '

Grade {1 - Maths IT - Western Provinee
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PartB
Amswer five questions only.

©7 (a) n “term ofa progressxon is T,=3n-1
(i ) - Write the first three terms of the above progression and by giving reasons state
~what type of a progressionisit.
(i) Findthesum of the first 20 terms ofit.
(b) Aworker who dig wells charges Rs.1 500 to dig the ﬁrst meter, Rs. 3 000 to dig the
. second meter, Rs. 6 000 to dig the third meter and so on. If he earned Rs. 46 500 by
digging a certam well write down the relevant formula of progressions which is
needed to find fhe depth of the well. Using the tormula find the depth ofthe well.

) Use only 'the straight edge with the scale cm/mm and the pair of cpmpasses do thé
4 following constructions. Show the construction lines clearly.
(i) Coﬁstruct acircle with the centre O and the radius4cm.
(i) Markapoint X on the circle and constructatangentto the circle from X
(i) Mark the point Y on the fangent which is 6cm away from X and construct another
téngent Y7 tothe circle fromthe point Y. Z isthe tangent point.
(iv) Construct the circle which passes thrbugh the points 0, X, Yand Z.
(82 Using your consﬁuction, write down the value ofﬁ? to the nearest first decimal

place.

~

) In the triangle PQR, mid points of the sides PQ and PR are Sand T respectivébﬁ The
produced ST line intersect the line drawn through R, parallel to QP at U. the line drawn |
throughP, parallel to QR meets the produced RS line and the produced RUlineatLand M V

respecuvely
Copy the diagram in your answer sheet and mark the gwen dataonit. Show that PSRUisa

parallelogram and prove that the area of the triangle LMR is twice the area of the triangle
PQR. ' |

Grade 11 - Maths U - Western Province



https://pastpapers.wiki/

(10) In the PQRST pentagon shown in the figure, PQ QR PT=RSand TPQ QRb
Mark the given mformaaon on the dlagram
(i) Showthat QT=Q85.
(i) Showthat PTS=RST, |
X is the foot of the ‘perpendicular drawn
from Q to the side ST. QX is produced to Y,
 suchthat QX =XY. TY and Y8 are joined.
- ‘Mmk these information on the dxagra.m and
, show that QTYS isa rhombus |

A solid metal bar with the radius 9c:m and the breadth 30cﬁ is melted and without wasting
any metal, spheres with the radius » is made. Show that =(l§_j§)3 and using logarithmic
| tables find value of r o '

2) There are 40 students in a class. A Venn diagram drawn to. represent the following
o €

informationis givenbelow.
4 Thereare 15 girls.

4+ . 16 play football. .

L boy{s. who play football are prefects.

Those who
:play football

- Copy the c'ivcn Venn diagram in your answer sheet and draw the subset male|

prefe..ts (P)on it. Repiesent the ngen information on the Venn diagram.
' Shade the region which represent the prefects who doesn't play football.
iti) Find the number of boys who doesn't play football

If n(FUP)=19, find n[(FuP) mB]

Grade 11 - Maths If - Westem Province
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